
Time: 10 Minutes Paper Math 7 (T-1) Total Marks: 10

3rd Month, 4th Week, 4th Day Review Exercise Complete

Q.1. Choose the correct options.   (0.5 x 6 = 3)  
(i) What number was subtracted to make the sequence 58, 56, 54, 52?

 58, 56, 54, 52

(a) 1 (b) 2 (c) 3 (d) 4

(ii) Which of the following sequence starts at 36 and having common

difference 2?

 2  36 
(a) 34, 35, 36 (b) 36, 36, 36 (c) 36, 39, 42 (d) 36, 38, 40

(iii) The nth term of the sequence 1, 3, 5, 7, ....... is:

 n 1, 3, 5, 7, .......
(a) 2n  1 (b) 2n + 1 (c) 3n + 4 (d) n2 + 1

(iv) (9, 6) lies in ______ quadrant:  ______(9, 6)

(a) I (b) II (c) III (d) IV

(v) The factorization of x2  4 is:  x2 _ 4

(a) (x  4)2 (b) (x  2) (x + 2) (c) (x  4)3 (d) (x  2)2

(vi) Which of the following is the polynomial? 
(a) 8x2 + 2 (b) 9x2 + 5x1 (c) 2x2 + 5 (d)

 Answer the following questions:  

Q.2. Find the 15th term of .          (1x2=2) 

Q.3. Simplify: (1x2=2) 

Q.4. A painter used 2 litres paint in first week, 6 litres paint in the second

week, 10 litres in the third week. How much paint did he use on the 6th

week, if pattern is continued?     (1x3=3)
  10  6   2 

 
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